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Balance the following equations and state what reaction type is taking place: 
 

1) ____ C5H12 + ____ O2  ____ CO2 + ____ H2O + heat 
 

Reaction type: ____________________ 
 
 

2) ____ K3PO4 + ____ BaCl2  ____ Ba3(PO4)2 + ____ KCl 
 

Reaction type: ____________________ 
 
 

3) ____ Al(OH)3 + ____ H2SO4  ____ Al2(SO4)3 + ____ H2O 
 

Reaction type: ____________________ 
 
 

4) ____ HCl + ____ K2CO3  ____ CO2 + ____ H2O + ____ KCl 
 

Reaction type: ____________________ 
 
 

5) ____ AgNO3 + _____ Na2CO3  ____ Ag2CO3 + ____ NaNO3 
 

Reaction type: ____________________ 
 
 

6) ____ Al2O3 + heat  ____ Al + ____ O2 
 

Reaction type: ____________________ 
 
 

7) ____ Al + ____ HCl  ____ H2 + ____ AlCl3 
 

Reaction type: ____________________ 
 
 

8) ____ Cu(OH)2  ____ H2O + ____ CuO 
 

Reaction type: ____________________ 
 
 



 Solutions 
 
Balance the following equations and state what reaction type is taking place: 
 

1) C5H12 + 8 O2  5 CO2 + 6 H2O + heat 
 

Reaction type: _combustion________ 
 
 

2) 2 K3PO4 + 3 BaCl2   Ba3(PO4)2 + 6 KCl 
 

Reaction type: _double replacement_ 
 
 

3) 2 Al(OH)3 + 3 H2SO4   Al2(SO4)3 + 3 H2O 
 

Reaction type: _neutralization_(acid – base) 
 
 

4) 2 HCl +  K2CO3   CO2 + H2O + 2 KCl 
 

Reaction type: _neutralization_(acid – base) 
 
 

5) 2 AgNO3 +  Na2CO3   Ag2CO3 + 2 NaNO3 
 

Reaction type: _double replacement_ 
 
 

6) 2 Al2O3 + heat  4 Al + 3 O2 
 

Reaction type: _decomposition_____ 
 
 

7) 2 Al + 6 HCl  3 H2 + 2 AlCl3 
 

Reaction type: _Single replacement_ 
 
 

8) Cu(OH)2   H2O + CuO 
 

Reaction type: _decomposition_____ 
 

 


